SRI SIDDHIVINAYAKA RESIDENTIAL SCHOOL, HATTIANGADI

COMMON ENTRANCE EXAMINATION

MODEL QUESTION PAPER

1)

2)

3)

4)

5)

6)

7)

8)

9)

MARKS: 60 CLASS - VI TIME: 1Hr.15Min.
ENGLISH

Write the meanings: [2]
(i) require = (ii) listen =

(i) victory = (iv) glance =

Write the opposite word: [2]
(i) active x (i1) bitter x

(iii) beautifulx (iv) rich x

Write the plural form: [2]
(i) person - (ii) leaf -

(iii) child - (iv) foot -

Write the opposite gender: [2]
(i) horse - (if) nephew -

(iif) prince - (iv) uncle -

Add suitable preposition: [1]
(i) They travel _ Dbus. (by, at)
(i) The fish swim ___ the river. (in, under)

Frame the sentence: [1]
Country:

Write an essay on: ‘My Favorite place’ [T - 8 sentences] [2]

KANNADA
BR0Y s 23000: [1]
(i) ®omd = (i) o1 =
2@BBe3S S 3000: [1]
(i) 38 - (ii) O -
10) 29&d 0Bowd: [1]

(i) Rpood = + (ii) goodes =




11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

23)

ci’)dog DD 28000:

(i) &0 X (i) FSex
(iii) BecX (iv) moxs X
2907 2TWeId 230DV:

(i) =@ - (i) & -
(i) B8 - (iv) o3 -
QO oTm@ey B00:

eromqgaiaiai -

[2]

[2]

[1]

B0 wBowd: W, aOF” [/~ 8wezgrive]
HINDI

37y ferfemy
() T (ii) =

Qe FeER AU T | q _ _ _ 7
T 2rer g fafau |

() T+S=________ [% / ®]

TR T T & 2

MATHEMATICS

Write the smallest four digit number.

Do) OoF0 e 23T ﬁoajgod)d) 23000.
& s Q

In a rectangle, the opposite sides are

200D egodoédg £92323003) 2JOBTIED

Simplify(=owwesda) : 7 + %

Write the expanded form of the number 3356.
goals 3356 &b, HTOd 2ToWD.

Multiply(rbe3@8): 3.7 X 1.4

esPTHZE3.
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32)

33)

34)

35)

36)

37)

38)

Write three-ten as a fraction.
B33e Bed, r,oe8adeN 230D,

Find the L.C.M of 8 and 14.
8 3 143 .70.09. FORGBOWD.

Add(30826) 1 — + =

lcm= mm
1 B0.&0e. = Q.Qoe.
Write the factors of 24.

243 ezB3e gy, 080n.
How many thousands are there in 33333337

3333333 3oy, &) TedTriwes?

Simplify(zbeedesdd): 2 + [(3% 6) —12]

SCIENCE

The furthest planet from the sun is
TRODEROTB BRIBLYDHT B es0O33.

The most sensitive organ in our body is

Sed), BedW ©F0T WeF, WOr Llglescing

Is the most abundant gas present in the air.

rro%?odog ée&a& 3eBBDNVT Q.

The two holes of the nose are called

NI OO Jogrigr, Q0T FZ030TY3.
The force of the earth attracts objects towards it.
2o Do) B, eBar3gs.

Plants respire through
ajajzgriéo BROT YVITIBIBE.

The gas which we breath in
Vo5 PVRTIWT WAL Zlglevicing

The natural satellite of the earth
3ead aﬁéxﬁsé OB B
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46)

47)

48)

49)

50)

51)

Total number of bones in our body : [1]
aiai)é BeBBYN :6d) DRENY éoﬁé

purifies blood. [1]
038R, BesOWIT.
The process of conversion of water to water vapour is called : [1]
Qedd g (géoaood 0 SRBF 0TI Baderba Hodadbd, Q0TDBFB030TYB.
Is the biggest planet in oursolar system. [1]
e @d@aﬁ@d g Jo=eNs.
During photosynthesis plants take in carbon dioxide and release gas. [1]
c:b?géﬁoﬁeaﬁ?é xgododbe ﬁ?dzgﬁs’o [OMPOT 8398 3B, OB QOB
298 BIeBI3.
One hour is equal to minutes. [1]
0@ roel QARwn BeroTwNDIE.
What is the S.I unit of time? : [1]

Do /W3 esoamoacéeojo DBFRBI0N 0370)T0?

GENERAL KNOWLEDGE AND SOCIAL SCIENCE

Who is the founder of Mughal dynasty? [1]
305 Tl TO[YBT a3Tedh?

Which part of the computer is called as the ‘brain of computer’? [1]
éong&aosaﬁ odyesd greriEdaly, ‘ﬁoaira?gsaosas DB Do FoheserdHI3a3?

Which is the national game of India? [1]
Anlercing m@eob 3ed ode)?

There are players in a cricket team. [1]
20t ¥ I0BBY £3¢37700030393.

Which is the heaviest metal between Gold and Silver? [1]

aSRS& AVICY 3315 - JYMYY 3To0w0d e adiow)add?

Which is the upper house of parliament? [1]
03T TOTSN e odresd)wd?
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